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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe climatic factors that are injurious to growth 

and development of forests in Himalaya. 

fgeky; esa ouksa dh o`f) o fodkl dks gkfu igq¡pkus okys 

tyok;q dkjdksa dk o.kZu dhft,A 

2. What do you understand by coppice system ? Describe 

in brief different types of coppice system and their 

merits and demerits. 

LFkwy izjksgj.k i)fr ls vki D;k le>rs gSa \ fofHkUu izdkj 

dh LFkwy izjksgj.k i)fr;ksa dk laf{kIr o.kZu dhft;s rFkk 

izR;sd ds ykHk o gkfu le>kb;sA 

3. What is Regeneration ? Describe the types and 

requirement for natural regeneration. 

iqu#Riknu D;k gS \ izkd`frd iqu#Riknu ds fy, izdkj ,oa 

vko’;drkvksa dk fooj.k nhft;sA 

4. Describe silvicultural characteristics and regeneration 

methods of any two of the following : 

(i) Cedrus deodara 

(ii) Shorea robusta 

(iii) Azardirachta indica 

(iv) Bamboos 
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fuEufyf[kr esa ls fdUgha nks dh ouo/kZu fo’ks”krk,¡ o 

iqu#Riknu fof/k;ksa dk o.kZu dhft, % 

(i) nsonkj 

(ii) lky 

(iii) uhe 

(iv) ck¡l 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between mechanical thinning and 

ordinary thinning. 

;kfU=d fojyu vkSj lk/kkj.k fojyu esa vUrj Li”V dhft;sA 

2. Write down the economic importance of poplar. 

ikWiyj ds vkfFkZZd ykHk fyf[k;sA 

3. Explain bioclimate and microclimate. 

ck;ksDykbesV o ekbØksDykbesV dks le>kb;sA 

4. Define mineral nutrient and their role. 

[kfut iks”kd rRoksa rFkk mudh Hkwfedk dks le>kb;sA 
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5. Explain Dieback in seedlings with examples. 

vadqj esa MkbcSd dks mnkgj.k lfgr le>kb;sA 

6. Primary and secondary succession. 

izkFkfed vkSj f}rh;d lDls’kuA 

7. Differentiate between clear strip and alternate strip 

system. 

Dyh;j fLVªi o vkYVjusV fLVªi i)fr esa vUrj crkb,A 

8. Indian irregular sheltherwood system. 

Hkkjrh; vfu;fer ‘ksYVjoqM i)frA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Genetically superior tree is known as elite tree. 

vkuqoaf’kd :i ls mRd`”V o`{k dks bykbV o`{kr dgrs gSaA 

2. Botanical name of Sagon is Dalbergia sissoo. 

lkxkSu dk okuLifrd uke Dalbergia sissoo gSA 
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3. A forest which is regenerated from seed is known as 

High forest. 

cht ls mxus okys ou dks mPp ou dgrs gSaA 

4. Cleaning is a tending operation done in a sapling crop. 

ulZjh esa ikS/kksa dh fujkbZ ckyo`{k ¼lSifyax½ voLFkk esa dh 

tkrh gSA 

5. Fallen tree tops are generally referred to as Biomass. 

fxjk gqvk o`{k ‘kh”kZ tSoHkkj dgykrk gSA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Green revoluation is associated with : 

(a) Sericulture 

(b) Agriculture 

(c) Fish culture 

(d) Silviculture 

gfjr ØkfUr tqM+h gS % 

¼v½ lsjhdYpj ls 

¼c½ ,xzhdYpj ls 

¼l½ fQ’k dYpj ls 

¼n½ flYohdYpj ls 

7. Pollination by birds is called : 

(a) Anemophily 

(b) Zoophily 

(c) Entomophily 

(d) All of the above 
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fpfM+;ksa }kjk ijkx.k dgykrk gS % 

¼v½ ,fueksfQyh 

¼c½ twfQyh 

¼l½ ,.VkseksfQyh 

¼n½ mi;qZDr lHkh 

8. Most suitable silvicultural system of Deodar in hilly 

terrain for control of soil erosion is : 

(a) Selection system 

(b) Clear felling system 

(c) Shelterwood system 

(d) Coppicing system 

igkM+h bykdksa esa e`nk vijnu dks jksdus ds fy,] nsonkj dh 

lcls mi;qDr ou lao/kZu i)fr gS % 

¼v½ lSysDlu i)fr 

¼c½ Dyh;j QSfyax i)fr 

¼l½ ‘ksYVjoqM i)fr 

¼n½ dkSfiflax i)fr 

9. Secondary succession is also known as : 

(a) Allogenic succession 

(b) Autogenic succession 

(c) Primary succession 

(d) None of the above 

f}rh;d lDls’ku dks dgrs gSa % 

¼v½ ,ykstSfud lDls’ku 
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¼c½ vkWVkstSfud lDls’ku 

¼l½ izkbejh lDls’ku 

¼n½ mi;qZDr esa ls dksbZ ugha 

10. French thinning is also called : 

(a) Ordinary thinning 

(b) Crown thinning 

(c) Free thinning 

(d) Advance thinning 

ÝSap fFkfuax dks dgrs gSa % 

¼v½ vkWfMZujh fFkfuax 

¼c½ Økmu fFkfuax 

¼l½ Ýh fFkfuax 

¼n½ ,MokUl fFkfuax 
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